A £ 0l & AF & S

Al A

20238 =0ila ESIH D28
M =28
B HEENE J|293
e S Al JE 5 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
IEt=n); 4,260,270 3,032,434 1,227,836
= 437,320
== 206,500
[Ea 3,616,450
SYHEE Jl=ES 4,219,350 2,991,514 1,227,836
= 437,320
< 206,500
= 3,575,530
Sat Algrdliat Jjgt A= 1,403,910 1,253,900 150,010
= 123,320
== 67,500
o 1,213,090
SEsE @3 XE 62,440 10,900 51,540
201 2= 15,940 8,400 7,540
01 AtR2t2lt] 10,940 8,040 2,900
OsXs dois oz 25 1=l 3,000
Out SAt 254l 500
OXsed gy Sl
8,000 +6& 100! 4,800
Otd &l 220,000 * 1204 & 2,640
2 35284l 5,000 360 4,640
OoRER=a 50,0002 %1004 500
OJIAHEX R=HI 250,000 *23 500
OagdHl =X 2= HIS
1,000,000 *432] 4,000
202 04| 4,000 4,000
01 =LHOLI 4,000 4,000
Ized SdAE ol 4,000
203 HR=H] 2,500 2,500
03 A=A R =NH] 2,500 2,500
O=gASEU JIsE2 AIMFA 2,500
401 AlZHIY S CHYI 40,000 40,000
01 AlZH| 40,000 40,000
OFAL 01X Ul E1UE HldotRA M= 40,000
=% 042 Bl 2= 70,000 0 70,000
401 AIEHIZ SR THYI 70,000 70,000
01 AlZ8| 70,000 70,000
O=g 0142 HHHIE 22l
70,000,000 *1JH 2% 100f% 70,000
s2JIsdE SEEAA 28 2 (34) 29,000 29,000 0
= 14,500
o 14,500
101 @124H| 15,000 13,200 1,800
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M =28
B HEENE J|293
e S Al JE 5 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 7,500
s 7,500
M ORIMZZ2NSE S 15,000 13,200 1,800
O2A4 ADPX ol
2,500,000~ 1E 60 & 15,000
= 7,500
Ea 7,500
201 fer= 3| 5,000 9,800 24,800
= 2,500
o 2,500
01 At22t2lt] 5,000 5,800 A800
OSEddd 28 =8 S 5,000
= 2,500
s 2,500
202 04l 5,000 0 5,000
= 2,500
Ea 2,500
01 2L AL 5,000 0 5,000
Osedd g% 304
20,0003 x5 50! 5,000
= 2,500
o 2,500
206 MH=HI 4,000 6,000 22,000
= 2,000
= 2,000
01 MZH| 4,000 6,000 A2,000
=24 M2 4,000
= 2,000
Ea 2,000
sy gEHlf=sE BEXR 33,600 33,600 0
= 16,800
o 16,800
101 e124d| 19,600 17,600 2,000
= 9,800
= 9,800
M ORIMZZ2NSE S 19,600 17,600 2,000
O244 ARPX oIl
2,450,000~ 1E 80 & 19,600
= 9,800
Ea 9,800
201 ger=3| 5,000 7,000 A2,000
= 2,500
o 2,500

_640_




M =28
B HEENE J|293
e S Al JE 5 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 At2t2ltl 5,000 7,000 /2,000
OdHIRA & 2823 5,000
= 2,500
o 2,500
206 MH=H| 9,000 9,000 0
= 4,500
s 4,500
01 M= HI 9,000 9,000 0
24 M2 9,000
= 4,500
Ea 4,500
wx=z #FFH NAOIEESH) 5,770 0 5,770
= 5,770
206 M=l 5,770 0 5,770
= 5,770
01 M=4l 5,770 0 5,770
Oo=4Mz 5,770
= 5,770
sHESglE A2 =29 N 4,500 4,500 0
= 2,250
Ea 2,250
201 er23| 750 750 0
= 375
s 375
01 At 2|l 750 750 0
Ogolis 2EXL 23 =23 7 750
= 375
[Ea 375
206 MH=HI 3,750 3,750 0
= 1,875
= 1,875
01 MZH| 3,750 3,750 0
OZEL s F& 3,750
= 1,875
o 1,875
sHEgoE ded 29 NE 18,000 18,000 0
= 9,000
[Ea 9,000
101 e124d| 2,000 3,000 A1,000
= 1,000
= 1,000
M ORIMZZ2NSE S 2,000 3,000 21,000
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2A: JlsE3u
HH: HINE Jlas
CHRl: 3} AltAAL D o 2
SN - B S(BH) - HBAY - BAS A 2
= 75,000
e 75,000
NS &35t S&H) (HEtArY) 25,000 25,000 0
& 12,500
iy 12,500
402 QI2+Xt 25,000 25,000 0
T 12,500
= 12,500
02 QI2ZIXIEMEEX(OIXMTHE) 25,000 25,000 0
Od==s= bl &I/ AIg(10
ha) 25,000,000& *1I0 2 25,000
= 12,500
= 12,500
OFX A A A FSESINe)) 336,000 320,000 16,000
& 40,000
iy 296,000
402 QI2EXE 336,000 320,000 16,000
= 40,000
ey 296,000
02 OIZFRFZ AL (OIXTHE) 336,000 320,000 16,000
OH dalls SSEM(AIX) XA
3,500ha*240, 000%40% 336,000
= 40,000
iy 296,000
ARSI E0E Al 40,000 0 40,000
& 15,000
iy 25,000
402 QI2EXE 40,000 0 40,000
& 15,000
iy 25,000
02 QIZHRE ) 40,000 0 40,000
Ox & So Y M| B
2 (15ha 50,000,000 * 17 2~ +80% 40,000
= 15,000
= 25,000
=& g% 575,600 644,200 68,600
201 LEt249H 5,000 5,000 0
01 At22teld| 5,000 5,000 0
O=s<H 2, 2291 S)
2,500,000& 25 5,000
206 MHEH| 8,000 8,000
01 =8I 8,000 8,000
OZSYH S
80,000& *100ha 8,000
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M =28
B HEENE J|293
e S Al JE 5 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
402 QI2F X201 & 562,600 631,200 268,600
01 QI X2 AL E R (KEHITHE) 562,600 631,200 68,600
Os&= dolis sS2H N3AL 562,600
—H EoliE A= (E3)LH X 369,000
—t EoliE A= (LEHEH X2
1,200ha* 135,000 *22] 40% 129,600
-0 BME SSYH XA
500ha*320, 0002 *40% 64,000
AEAE Jl=gd N 48,000 48,000
202 04t 3,600 3,600
01 =LHOHI 3,600 3,600
OalgazE Jlegd A ol 3,600
402 2I2F X201 & 44,400 44,400
01 QI XHE AL 2R (KM TH) 44,400 44,400
OO220 &= B Holis 2 MHAst AlY
400,000 *30ha*60% 7,200
Ol == =2 Albl ®MAH L Al
8,000,000 *37H 2 +60% 14,400
OdA= Holls S 2l MY
600,000 *30ha*60% 10,800
OZIEHE H THHHEX 4 AlY
2,000,000 * 10ha*60% 12,000
g=J134E 29 6,000 6,000 0
201 er23 | 6,000 6,000 0
01 At2teltl 4,000 0 4,000
O&=IIsHH 24 4,000
02 S3=4gl 2,000 6,000 24,000
O&=IISHE AMEEEl |RAI2=H| 2,000
SYASHL Jls=Es 1,354,588 882,800 471,788
= 214,000
= 109,000
Ea 1,031,588
Tossme 24 17,870 11,200 6,670
201 er2 3| 12,800 11,200 1,600
01 AtR2t2|HI 12,800 11,200 1,600
OASHS g2xd Sz
8,000 x4 »150! 4,800
OLSH= YR 2Y=5 7Y
2,000,000& *32 6,000
O4SH= sd8U? z2= 12
2,000,000& %12 2,000
202 04| 5,070 5,070
01 2K 5,070 5,070
OASH= g2 & S8
1,267,500& x4H 5,070
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A JI=ES
B HENE J|293
Bel: sZasie JlsE=2 (SH9 H2)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
52 AJIE AME(ASESE) 350,000 350,000 0
= 175,000
= 175,000
402 212+ X+=01 & 350,000 350,000 0
= 175,000
[Ea 175,000
02 RIENZASEZ (01 THR) 350,000 350,000 0
O==018 20| M2 Jis AlY
25,000,000 #2042~ 50,000
= 25,000
[Ea 25,000
OSAL OO MIEH 2 =5 vio| £X1 Al
= 20,000,000 #30H 2 60,000
= 30,000
[Ea 30,000
OFSE UEE UEES It= ditd &
o A" 5,000,000 *47H 2 20,000
= 10,000
[Ea 10,000
OBEA! oliotE 018 AATHEY &0l AlY
100,000,000 » 190 2 100,000
= 50,000
[Ea 50,000
O3fgll F2HE & FAAAE Az AlY
80,000,000 174 2~ 80,000
= 40,000
[Ea 40,000
OSaE =8 43t AT Al
40,000,000 * 100 2 40,000
= 20,000
[Ea 20,000
NS a3ds &5 ISR (2SZ0|12) (HEAY) 170,000 210,000 40,000
== 85,000
o 85,000
402 SI2ERH=201 S 170,000 210,000 /40,000
[ 85,000
T 85,000
02 QIEN2AISEE X (0IETHR) 170,000 210,000 240,000
OO0laDI4a S I TIGHHE D= &4t Al
= 25,000,000& *4ha 100,000
= 50,000
o 50,000
Os&Y atBMd =2 THE &2t Ald
50,000,000 *1H 2~ 50,000
S 25,000
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SN )E23
HM: JHYAE =23
ol sEaSHHE JleEs (SH &)
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
= 25,000
OR&2E A 2 SN Jls2E2 Al
= 20,000,000& * 10 2~ 20,000
= 10,000
= 10,000
ASEHZEO0E AIY 24,000 0 24,000
& 9,000
= 15,000
402 QIR0 24,000 0 24,000
== 9,000
- 15,000
02 QIZEXIE A E X (01 & THE) 24,000 0 24,000
OLNEZE ©)| LT MAAIY
30,000,000& *17H A~ *80% 24,000
= 9,000
= 15,000
MIIEESAIYE AS 680,718 219,600 461,118
402 SI2tXHE0| M 680,718 219,600 461,118
01 CIZFHEAIS SR (KHMITHS) 680,718 219,600 461,118
Ol FHER Lol 2 AIEZS AlY
5,000, 000& *4ha*60% 12,000
O HIJIETHEE AlE 2= MALL SkFAE
Al 50,000,000 /0. Tha*0. 3ha*60% 90,000
OYdlls FOUYH AIAE AXIAIH
20,000, 000& *20H 2= *x60% 24,000
O0|ADAHS AISHE LD 82 AXAIY
20,000, 000& *x27H 2= *60% 24,000
ORII2 YSE THH &2 e ADI=
23 AlY 60,000,000& *17H A~ *60% 36,000
OdE == 2 HLUX =& Al™
6,000, 000& *5IH 2~ *60% 18,000
OYHI0oIH I8t THots Ars2EEEXIAIAE
25 AIY 15,000,000 *4JH 2 *60% 36,000
OYUAD)| HEF JIBtEA AIHH
130,000, 000 *5IH 2 *60% 390,000
OFcXl 25 22 MHHHEX =4 A"
42,265,000 x2ha*60% 50,718
S&ZYs MYl X3 78,000 60,000 18,000
= 39,000
= 39,000
206 =8| 78,000 60,000 18,000
= 39,000
= 39,000
01 =4I 78,000 60,000 18,000
O=golls & Aoz 2halibl X 78,000
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2A: JI=E2SH
M HINE )|=23
Bel: sZasie JlsE=2 (SH9 H2)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
stald 2HRibl 14,000
= 7,000
= 7,000
—S o= Ll 64,000
= 32,000
= 32,000
JIEHS S SLlE SSUH(TEAN) 24,000 22,000 2,000
= 12,000
= 12,000
206 =8| 24,000 22,000 2,000
& 12,000
= 12,000
01 =Yl 24,000 22,000 2,000
OJI=H3 e SLEd= 2X 24,000
& 12,000
o 12,000
d9HolE HH AISUS 10,000 10,000 0
= 3,000
= 7,000
201 Ler23| 5,000 5,000 0
= 1,500
= 3,500
01 AtR2elt] 5,000 5,000 0
Ou=s % 22Xtz M 5,000
& 1,500
= 3,500
206 =4l 5,000 5,000 0
T 1,500
= 3,500
01 =Yl 5,000 5,000 0
Ogolls &8s M 5,000
= 1,500
= 3,500
MASEERS AR 1,460,852 854,814 606,038
= 100,000
= 30,000
= 1,330,852
AEIY AlEZ22|2Y 196, 182 161,676 34,506
101 214 d| 56,912 37,476 19,436
03 SR (RIHL) 22X B 1,500 4,500 A3,000
OAENYE HS2e| |F222 =Y
150,000& * 10 1,500
M IIZINZ2 2SS Es 55,412 32,976 22,436
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(el AASHE AP (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OAIE R 2| Q12
76,9603 x4 *180 55,412
201 er2 3| 30,600 29,000 1,600
01 AtR2te|HI 16,100 14,500 1,600
ONEE 29 457|177
50,0002 *305 1,500
ONASLUZNET 2% 25 79
400,000 123 4,800
OANERY 2l LI=Y]
200,000& =22|+5H 2,000
OAIZE W= Wi X
10,0002 x20& *63] 1,200
OAIERE 22|28 =2l
8,000 x4 » 150 4,800
OAlgg HEacl €8 =&
60,0002 *30! 1,800
02 S3=gHl 14,500 14,500 0
OdteA 28 € SHEY 774
1,000,0002 704 & 7,000
sSIAH2E 2 1F HEE R4
500,000 *50H & 2,500
O&8dHl 7Al & B
500,0002! %102 5,000
202 04| 5,070 5,070
01 2K 5,070 5,070
OAIENE &I 5,070,000& 14 5,070
206 M=Hl 38,600 28,600 10,000
01 MHZH| 38,600 28,600 10,000
OASANEE 28 M=
2,500,000& 102 25,000
OBloleda AHIE FY
12,0002 x105+302) 3,600
OBAB 1E 29 WP
125,000& x105+42] 5,000
OL= LAY ASAE Mz
1,000,000 +55 5,000
207 ARl 3,000 6,000 /3,000
03 Al -2HI 3,000 6,000 A3,000
O&ZAE A7 JIAM 2 M2+
150,000& x105+22] 3,000
401 AIEHIZ SR OHYI 44,000 39,000 5,000
01 Al&HI 44,000 39,000 5,000
OXSsAHAUSAIEE ANEES
9,000,000& *14] 9,000
OLF= AT ASAIE AIEE2
35,000,000 x 14 35,000
402 2IZtA=01A 18,000 21,600 /3,600
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M =28
B HENE )29
Rl MASHS o7 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
206 Tl 219,000 286,000 67,000
IEET 219,000 286,000 A67,000
OYBEHE 22 252 7Y
4,5002!%16, 50001 74,250
OZBAS(ZEE)MM TR
96,000, 0002 96,000
O23= Mug ME 7Y
7,500 6, 50004 48,750
401 Al HIZ 2018 30,000 24,000 6,000
01 Al&H| 30,000 24,000 6,000
SHAUIAAE K Ot A AMEES 30,000
405 KHoHF S| 4,800 4,800
01 ML ESFSHI 4,800 4,800
Od=sael J1J 7 4,800
S EAIEE =5t At 154,750 152,080 2,670
201 =3 4,000 4,000 0
2 S52g4l 4,000 0 4,000
OZ2AalE it Ald & &l |X 4,000
206 Tl 150,750 73,080 77,670
01 W=H 150,750 73,080 77,670
OZBZHE 012 252 72
4,50024 12,0000 54,000
O3 M 2 2 30,000
023512 MM8 NE 7Y
7,500 4, 50004 33,750
O=st= du8 32 7Y
11,0002 +3,0007H 33,000
nStEsaSAER 29 300,000 0 300,000
= 100,000
s 200,000
401 Al HIZ R 0HHI 300,000 0 300,000
= 100,000
[Ea 200,000
01 Al&HI 300,000 0 300,000
OAl&oteA b= 300,000
= 100,000
s 200,000
S8 2ZNHL =3 dat 330,000 0 330,000
101 @124H| 30,000 30,000
MU IIRINZZENSES 30,000 30,000
O232t=, Sili= dat IFY
15,000, 000& x2H 30,000
201 et 3| 11,800 11,800
01 At22t2l] 8,800 8,800
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A JI=ES
B HENE )29
Rl MASHS o7 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ONEE 2% 28 7Y
400,000& <54 2,000
OEXAE gXtz 6,800
02 S3=gHl 3,000 0 3,000
O=Rst= dAAE & FHIRX
1,000,000 *34] 3,000
206 M=l 157,200 157,200
01 MHZH| 167,200 157,200
ouzt 23t= g 4,800 %10,0000H 48,000
O=8= Mg stz
6,6002%10,0007H 66,000
O=st=, Siil= 44 M2 43,200
401 Al HIZL S 0HYI 127,000 127,000
01 Al&HI 127,000 127,000
OMBHAl Jlgtxd & 2EoHe
20,000,000& x24| 40,000
OdgoliE LMAE 25 25,000
OBHZHIAIAE AX 50,000
Ozel 298 AlE &X 6,000,000& 2= 12,000
405 AHAHE S 4,000 4,000
01 TR =S F=H 4,000 4,000
Od=szel I 7L
1,000,000 44 4,000
AH2LIHIOI=E23D) 40,920 40,920 0
J1I=23Hl 40,920 40,920 0
Jls2281 7123l 40,920 40,920 0
201 223 17,280 17,280 0
01 At22t2ltl 17,280 17,280 0
OS A0t 13,824
O=<tl SH0at 3,456
202 04dl 19,440 19,440
01 =LHOHI 19,440 19,440
O=LHNHI 19,440
203 =4l 4,200 4,200
M FA2HHIFII 4,200 4,200
Olls2s8l BFAN2E 4,200
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